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Estrutura	
  do	
  Desenvolvimento	
  

•  Trata-­‐se	
  de	
  uma	
  aplicação	
  exemplo:	
  
– “Armazém	
  TADS”	
  –	
  sistema	
  de	
  compras	
  
– “Depot	
  Applica5on”	
  (depósito	
  ou	
  armazém)	
  

•  Ilustra	
  o	
  desenvolvimento	
  iteraHvo	
  
incremental	
  –	
  segundo	
  a	
  proposta	
  ágil	
  
– Foco	
  em:	
  (i)	
  desenvolvimento	
  de	
  funcionalidades	
  
+	
  (ii)	
  abraçar	
  as	
  mudanças	
  +	
  (iii)	
  testes	
  



Aplicação:	
  Armazém	
  TADS	
  

•  Atores:	
  (i)	
  Comprador	
  e	
  (ii)	
  Vendedor	
  
•  Casos	
  de	
  uso	
  
– Comprador:	
  (i)	
  navega	
  pelos	
  produtos;	
  (ii)	
  
seleciona	
  alguns	
  para	
  comprar	
  e	
  (iii)	
  fornece	
  
informações	
  para	
  criar	
  um	
  pedido	
  

– Vendedor:	
  (i)	
  mantém	
  a	
  lista	
  de	
  produtos	
  a	
  venda;	
  
(ii)	
  visualiza	
  os	
  pedidos	
  aguardando	
  entrega	
  e	
  (iii)	
  
marca	
  um	
  pedido	
  como	
  enviado	
  (despachado)	
  



Desenvolvimento	
  Ágil	
  

•  Essas	
  informações	
  são	
  suficientes	
  para	
  se	
  
iniciar	
  o	
  desenvolvimento	
  

•  Algumas	
  questões	
  serão	
  discuHdas	
  durante	
  o	
  
desenvolvimento	
  
– Ex.:	
  o	
  que	
  significa	
  em	
  detalhes	
  manter	
  os	
  
produtos	
  e	
  o	
  que	
  consHtui	
  um	
  pedido	
  pronto	
  para	
  
entrega?	
  

– Estratégia:	
  esclarecer	
  através	
  das	
  interações	
  com	
  
o	
  cliente	
  (feedback)	
  



Fluxo	
  de	
  Páginas	
  (Comprador)	
  



Fluxo	
  de	
  Páginas	
  (Vendedor)	
  



Dados	
  



CRIANDO	
  A	
  APLICAÇÃO	
  
TAREFA	
  “A”:	
  



MANTER	
  PRODUTOS	
  
Iteração	
  A1:	
  



Criação	
  da	
  Aplicação	
  

•  Criação	
  da	
  aplicação	
  a	
  parHr	
  da	
  linha	
  de	
  
comando	
  (rails	
  new)	
  

– Resultado:	
  



Criação	
  do	
  Banco	
  de	
  Dados	
  

•  O	
  livro	
  uHliza	
  o	
  banco	
  de	
  dados	
  open	
  source	
  
SQLite,	
  mais	
  precisamente	
  a	
  versão	
  3	
  
– O	
  referido	
  banco	
  será	
  uHlizado	
  pela	
  aplicação	
  
– Não	
  é	
  necessário	
  criar	
  as	
  tabelas	
  inicialmente	
  

•  Para	
  a	
  aplicação	
  uHlizar	
  o	
  banco	
  de	
  dados,	
  as	
  
informações	
  do	
  mesmo	
  são	
  adicionadas	
  em:	
  
“config/database.yml”	
  



Geração	
  do	
  “Esqueleto”	
  

•  Passos	
  
– Criar	
  uma	
  tabela	
  no	
  banco	
  de	
  dados	
  
– Criar	
  um	
  classe	
  de	
  modelo	
  correspondente	
  
– Criar	
  as	
  visões	
  responsáveis	
  pela	
  interface	
  com	
  o	
  
usuário	
  	
  

– Criar	
  um	
  controlador	
  para	
  “orquestrar”	
  a	
  
aplicação	
  



Geração	
  do	
  “Esqueleto”	
  

•  Criação	
  do	
  esqueleto	
  para	
  as	
  ações	
  de	
  CRUD	
  
referente	
  à	
  classe	
  Produto	
  



Geração	
  do	
  “Esqueleto”	
  



Geração	
  do	
  “Esqueleto”	
  



Geração	
  do	
  “Esqueleto”	
  

•  Dentre	
  os	
  arquivos	
  gerados,	
  está	
  um	
  arquivo	
  
de	
  “migração”	
  (migra5on)	
  
– Uma	
  “migração”	
  representa	
  uma	
  alteração	
  que	
  
desejamos	
  realizar	
  nos	
  dados	
  
•  Alterações	
  no	
  esquema	
  do	
  banco	
  
•  Alterações	
  nos	
  dados	
  nas	
  tabelas	
  do	
  banco	
  

– Permite	
  se	
  adaptar	
  mais	
  facilmente	
  à	
  mudanças	
  
– A	
  aplicação	
  da	
  “migração”	
  atualiza	
  o	
  banco	
  de	
  
dados	
  –	
  também	
  podem	
  ser	
  “desaplicadas”	
  



Geração	
  do	
  “Esqueleto”	
  

•  Alterando	
  a	
  “migração”	
  gerada	
  por	
  padrão	
  



Geração	
  do	
  “Esqueleto”	
  

•  Aplicando	
  uma	
  “migração”	
  
– Comando	
  rake	
  



Iniciando	
  a	
  Aplicação	
  

•  Basta	
  colocar	
  o	
  servidor	
  para	
  funcionar	
  



Vendo	
  a	
  Lista	
  de	
  Produtos	
  



Inserindo	
  um	
  Novo	
  Produto	
  





Inserindo	
  um	
  Novo	
  Produto	
  



Listando	
  os	
  Produtos	
  



Testando	
  a	
  Aplicação	
  

•  UHlização	
  dos	
  testes	
  unitários	
  
– Aplicado	
  às	
  classes	
  de	
  modelo	
  e	
  controle	
  
– Comando:	
  rake	
  test	
  

– Resultado:	
  “0	
  failures,	
  0	
  erros”	
  


